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TUHH BITTE BEACHTEN SIE DIE 3G-REGEL! (ﬁi_

wamsow it rons PLEASE OBEY THE 3G RULE! \*
Zutritt zur Lehrveranstaltung Admission to the course is restricted
haben nur: to persons who are:
~VOLLSTANDIG GEIMPFTE —FULLY VACCINATED
~GENESENE ~RECOVERED
~GETESTETE ~TESTED
(negatives Testergebnis ist max. 24 Std. giltig) (negative test result is valid for max. 24 hours)
Sollten Sie dies nicht nachweisen If you cannot prove this,
kénnen, missen Sie bitte den Raum please leave the room now.
jetzt verlassen. Otherwise you could be banned from
Andernfalls droht ein Hausverbot! the room!
Vielen Dank fir Ihr Verstandnis. Thank you for your understanding.
Schiitzen Sie sich und andere! Protect yourself and others!

@ ~_ Preliminary Remark: (Exponential Solution)

e For linear ODE ' = ay the solution is y(z) = e**y(0). -

e Aim: Transfer this solution to a system

Utilize the Matrix Exponential Function

— 1
P=D Bt

k=0

B .

e ¢” is a (n X n)-matrix, if B is one.
This sequence converges! o
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@ Proposition: (Variation of constants for systems)
Let:

® yi,...,¥n Fundamental system on |a, b|,

e Matrix Y(z) = [y1...¥n)

e Inhomogeneous system y’ = A(x)y + g with g component-wise continuous.
Then

yp =Y (2) - c(z)

is particular solution of the inhomogeneous system, where c(z) = [ ¢/(z) dz
and ¢/(z) = (c|(z),...,c,(x))" solution of the system of equations

Y(z)-c(z) =g.
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